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POLITICAL SCIENCE

PAPER - 11
Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.
1.  Which one of the following statements is not correct in case of Kautilya ?

(1) He was the first to make political economy an independent subject.

(2) He propounded a theory of politics which dealt with immediate practical concerns of
polity.
(8) He is credited with being the founder of nitisastra tradition.

(4) For the first time he emphasised the need for a strong political control in India.

2. Who among the following said that the Republic pictures a utopia not because it is a romance
but because plato intended it to be the start of a scientific attack upon the “idea of the good” ?

(1) G.H. Sabine (2) Dunning (3) E. Barker (4) Ebenstein

3.  Who among the following said that in order of time state is latter than the family or the
individual, but in order of nature, prior to them ?

(1) Cephalus (2) Thrasymachus (3) Aristotle (4) Lacophon

4.  For Locke which of the following is not true in case of social contract ?
(1) Contract, once made, is irrevocable

(2) Contract to which each generation must not consent

(3)  Contract in which men give up some of the rights they possessed in the state of nature

(4)

Contract does not put an end to the Law of Nature

5.  For Rousseau which one of the following is not true ?
(1) For man’s self-love, which satisfies his real needs, is only too apt to become pride.
(2) Pride becomes incompatible with sympathy.
(3)  From pride all evil has grown.
(4) Pride does not seduce reason.
poczss [ THTRLAAN : Fapec
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6. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : For J.S. Mill will is the basis of all institutions including the state.

Reason (R) : Will is not only dependent on number, it has a qualitative foundation and
the Will which makes the institutions takes on the form of a belief.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

7.  Match the List - I (Sources) and List - II (Ideas) which influenced Gandhi and select the
correct answer from the code given below :

List - I List - II
(Source) (Major idea)
(a) Jainism (i) Catholicity of outlook
(b) Vaishnavism (i) Contempt for industrial civilization and ideas on

passive resistance

(c)  Ruskin and Tolstoy (iii) Idealism and concern for moral values
(d) Plato (iv) Emphasis on Non-violence
Code :
@@ (b) (9 (d)
® @ @) @ @G
(2 Gv) @ @) ()
() @ @) @) @
@ @) @@ @Gv) @

8.  Who among the following had started two weeklies, the Karmayogin and the

Dharma ?
(1) Mahatma Gandhi (2) Aurobindo
(3) Ranade (4) Tilak
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9. Given below are two statements, one labelled as Assertion (A) and other as Reason (R) :
Select the correct answer from the code given below :

Assertion (A) : M.N. Roy did not accept Marx’s materialistic interpretation of history.
Reason (R) : It had an element of determinism and idealism.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

10. Who among the following said in the context of States Reorganisation Commission
Report : “The Lambs are shorn of the wool” and “They are feeling the intensity of
cold” ?

(1) J. Nehru (2) B.R. Ambedkar (3) B.N. Rau (4) K.T. Shah

11. Which of the following statements is not correct ?

(1) Traditional political theory is prescriptive and normative.

(2) Behavioural political theory concerned with uniformities and regularities.
(8) Post-behavioural political theory is tied to action and relevancy.

(4) Post-behavioural political theory is not holistic.

12.  Which one of the following contentions of Isaiah Berlin is not true in the context of resurgence
of political theory (political philosophy) ?

(1) Politics exists in a society where ends collide. In a liberal order political theory can
never see its end.

(2) Theresponsibility for causing decline of political theory should be laid on rank empiricists
who have displaced classical tradition.

(3) Political theory shall continue to exist as a result of the inquisitive and rational inquiry
of man.

(4) He is sheptical about the resurgence of political theory (philosophy).

13.  Who among the following conceived society as a “Cooperative venture for mutual advantage’,

more or less self-sufficient, and necessarily governed by rules ?
(1) Robert Nozick (2)  Friedrich Hayek
(3) John Rawls (4) Karl Marx
poczss [N : Fapec
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14. Who among the following has written the article “The Zigzag of Politics” ?
(1) John Rawls (2) H.A. Hayek (3) R. Nozick (4) J. Habermas
15. Who among the following is not a proponent of commuritarianism ?
(1) Alasdair Maclntyre (2) Michael Sandel
(3) Michael Walzer (4) Friedrich Hayek
16. Which of the following are the features of democracy ?
(a) Democracy requires political equality.
(b)  Allcitizens must be entitled to stand for election regardless of race, sex, colour or religion.
(c) All citizens must possess a vote (universal adult franchise).
(d) Political equality means ‘one person one vote, one vote one value’.
Select the correct answer from the code given below :
(1) (@) and () (2) (@), (© and (d)
(3) (@), (b)and (©) 4 (@), 0) (© and (d)
17. Match the List - I with List - II and select the correct answer from the code given below :
List - I List - II
(Authors) (Books)
(a) Brian Berry (i)  Justice
(b) Susan Moller Okin (i) Idea of Justice
(c) Amartya K. Sen (iii) Justice, Gender and Family
(d) Tom Campbell (iv) The Liberal Theory of Justice
Code
@ () © @
1) @) @) @ 0
@ (v 6 @ )
@) G @) @ o
@ O G @ W)
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18.  Which of the following are features of Marx’s theory of surplus value ?

(a) Itis an extension of Ricardo’s theory.

(b) Labour power equals the brain, muscle and nerve of the labourer.

(c)  The value of every commodity is not proportional to the quantity or labour contained
in it.

(d) The worker must be paid a price proportional to the number of Labour hours that
entered into its production.

Select the correct answer from the code given below :

(1) (a) and (b) (2)  (b) and (d)

(3) (a) (b)and (d) 4) (@), (b), (c) and (d)

19. Which of the following are Lenin’s contribution to Marxist theory ?

(a) His theory of the party as ‘the vanguard of the proletariat’” which guides the masses
both before and after the revolution.

(b) His theory or capitalist imperialism, which he held to constitute the intermediary stage
of capitalism.

(c) His version for the reconstruction of the world’s first proletarian state.
(d) His theory of the strategy and tactics of revolution.

Select the correct answer from the code given below :

(1)  (a) and (d) (2) (@) (c) and (d)

(3) (@), (b)and (¢) (4) (@), (b), () and (d)

20. Which one of the following is not a feature of ideology ?
(1) A political belief system

(2) An action-oriented set of political ideas
(3) The world view of a particular social class or social group
(4) The political ideas that do not embody or articulate class or social interests

21. Who among the following described comparative politics as primarily concerned with “parties,
interests and leadership structure” ?

(1) Gabriel Almond (2) Sigmund Neuman
(3) Roy C. Macridis and Ward (4) M.G. Smith

22.  Who was the author of the book “The Presidential Republic” ?

(1) Jean Blondel (2) Dorothy Pickles
(3) Walter Bagehot (4) E.H. Carr
poczss [ THTRLAAN 1 Fapec
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23. Given below are two statements, one labelled as Assertion (A) and other labelled as Reason
(R). Choose the correct answer from the code :
Assertion (A) : Systems approach to comparative politics believes in the balance between
the input structure and the output structure to maintain the equilibrium.
Reason (R) : Systems approach is criticised as a ‘status quoist” model.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
24. Arrange the interest groups as given by Gabriel Almond in sequential order :
(a) Institutional groups (b) Non-associational groups
(c) Associational groups (d) Anomic groups
Code :
1) (9), (b), (d), () 2) (@) (0) (d), (b)
(3) (), (@) @) (© @) (@) @) (©), (b)
25.  Which of the following pairs is not correctly matched ?
(1) Chartist Movement - Demand for Manhood suffrage in England.
(2) Philadelphia Convention - Declaration of independence and signing of the
Constitution in US.
(3) Mayflower Compact - Abolition of Slavery in US.
(4) 1832 Reform Act - Changes in the electoral system of Britain.
26. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) : Many Afro-Asian nations emerged independent after World War II.
Reason (R) : Absence of economic developmental largely tended to make their
independence more formal than substantive.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
poczss [N 2 Fapec
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(4) 1832 =1 YR AfHfTaH - foeq i farE gonett § aiedd

= AR (A) 3R @k (R) & €9 H <1 gaaed fqu MU § | < fou T e & § w& s g

AR (A) :  T5dfta fovergs o 9v=rq o5 9 31wl TREE T &= 31 T

e (R) : afefen foehm el B % HRUT Seh! Lo =i AL TR B i s ATk sfo=nfiaman
1 S T 8 o |

<< :

(1) (A) 3R (R) ST W&l § IR (R), (A) Tt Tl AT T

(2) (A) 3R (R) 3T T E G (R), (A) T TR =0 T 2
(3) (A) W T fFq (R) 7@

(4) (A) 7@ © fRg (R) T 21
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27.  Which of the following pair is not correctly matched ?

(1) Political Continuity and change - Peter H. Merkil

(2) Comparative Politics Today - S.P. Huntington

(3) The Man on the Horseback - Samuel Finer

(4) Modern Political Systems : Asia - R.C. Macridis
28.  Which of the following are true regarding a revolution ?

(a) Change of Constitution

(b)  One ruling elite is replaced by another

() Transformation in Political Institutions

(d) Fundamental change in the Socio-economic and political structures

Code :

(1) () and (b) (2) (b)and ()

(3) () and () @ @ 0) © @
29. Which of the following are true regarding a Unitary System of Government ?

(a) It is most effective in protecting the unity and integrity of the nation.

(b) Power is delegated to the local units for administrative convenience.

(c) There is single law making body.

(d) The local administrative units do not derive their power from the Constitution.

Choose the correct answer :

(1) () and (c) only () (@ () () and (d)

(3) (c) and (d) only (4) (b), (c) and (d) only
30. Which of the following amendments of American Constitution laid down “Due process of

law” relating to judicial scrutiny of legislative and executive actions :

(a) 4™ Amendment (b) 5" Amendment

(c) 14" Amendment (d) 16" Amendment

Choose the correct answer from the below :

1) Mand© () @and(®) () @and(d) (@) (J)and (d)
31. Which of the following pairs is not correctly matched ?

(1) Administrative Law - France

(2) Appointment of Judges for life - Switzerland

(3) Equal Representation of States - USA

in the House of Senate
Rule of Law - England

ST 1 Fapec




27.

28.

29.

30.

31.

freafafed § @ eF-a1 g3 gafad T8 €2
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= feu U foehed § 9 A& S| g

(1) (b) 3R (o) (2) (a) 3 (b) (3) (a) ¥R (d) 4) (03 (d)
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32. Who among the following described political development as “administrative and legal
development” ?
(1) Paul Baron (2) James S. Coleman
(3) Edward Shills (4) Max Weber
33. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) : The system of democracy recognises the equality of all people and stands
for the government of common people.
Reason (R) : It is commonly believed that government is largely controlled and managed
by ‘power elite’.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
34. Which of the following statements are correct regarding Max Weber’s theory of bureaucracy ?
(a) Itis an iron cage of rule-based rational control.
(b) Itis a key part of the “rational-legal authority.”
(c) Bureaucracy means “domination through knowledge” in the form of merit.
(d) It enjoys popular acceptability in a democracy.
Choose the correct answer from the below :
(1) (a) and (d) (2) (a), (b) and (©)
(3) (c)and (d) (4) () (0 and (d)
35. Match the items of List - I with items of List - II by selecting the correct code :
List - I List - II
(Authors) (Books)
(a) Robert Dahl (i) Legality and Legitimacy
(b) S.M. Lipset (i) Polyarchy : Participation And Opposition
()  Schmittcarl (iii) Political Man
(d) Roger Charlton (iv) Political Realities : Comparative Government
Code :
@ (b) (9 (d)
U @ @@ 6w
@ G O @) @
@) 6 @) @ G
@) G @ @ 6
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32. frefafea # @ feam voifae foem =t =amen * yemafes @R fafues fawm’” & w1 § =0t 2
(1) did I (2) STH TH. HieEA
(3) Teare fied (4) HHH AH
33. = AfueRed (A) 3R @k (R) fow e €1 U U e H § W& W g
AR (A) : Akt Jomel H Geft =faqai Sl T THE 9 61§ SR I8 3T SAeHT i
TIFHR 1 i B |
& (R) : 3 UM © Toh TR IR Wfek 1 & = o geier o o st § |
<<
(1) (A) 3R (R) I §& € 3R (R), (A) T T AT B |
2) (A) 3R (R) S T T fFg (R), (A) T TS =0 T 2
3) (A) & g, g (R) 7o T
(4) (A)Te@ § foReg (R) 9 B
34. HIT IR F Al % fagid & 9R # freafafed § 9 S0 S w@ § 2
(a) T% Fram-ameRa gf S e A w7 R R
(b) 9% gfoa Jara-faferer wfteR w1 Aewergul fewm 71
(c) Frenwmel § 7el % 9 H ' JE o WA G g S ¢
(d) Tihdd § THHRI TES URAM B |
TE W ﬂﬁ"{ :
(1) (a) 3T (d) 2 (@, b) #R()
(3) (o) ¥ (d) @ () (R (d)
35. 9o - I 3iR gl - 11 1 gafad S iR fu e foshea 5 9 @& e g :
T - 1 et - 11
(oI @ ) (=fa)
(a) TeE = () faifat e A
(b) TETH. fawe (i) difcreTren ; WIEHIYH TUS STAISHYH
(c) EhHIeHE (iii) Wi 89
(d) TSR ARA (iv) Wifeeiena Raefifes | wFRfed Tarte
e
@@ () (o (d)
1) @ @) @) (@)
2 @) @ @v) ()
G @ @v) @) (i)
4) (v) @) @) @
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36. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) : Presidential system provides for a stable governance model for a full term.
Reason (R) : Centralization of power is inherent in presidential system.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
37. Match the items of List - I with items of List - Il by selecting the correct answer from
code :
List - I List - II
(a) Islamic Revolution (i) Led by Bolshevik Party
(b) Russian Revolution (i) Anti-Modernization Movement in Iran
(c) Glorious Revolution (i) 1649 Revolution to limit the arbitrary power of
Charles 1I
(d) Puritan Revolution (iv) Establishing Constitutional government in England
Code :
@@ (b) (9 (d)
1 G @ (@v) ()
2 @ @) @@ (@)
G) Gv) @@ @)
@ @) @Gv) @O @)
38. Modernization is commonly understood as being analogous to :
(a) Westernization (b) Europeanization
(c) Rise of Nation State System (d) Industrialization
Choose the correct answer from the below :
1 © @ 2 () ()
3) (@), ) © @ @, 0) © @
39. Examine the following statements regarding the media :
(a) Print media is witnessing a marginalised role in contemporary democracies.
(b)  Electronic media assumes a decisive role.
(c) Media is dispassionate and objective in all political systems.
(d) Instruments of media are controlled by the industrial and corporate groups.
Choose the correct answer from the below :
1) @, 0) © @ (2) () and ()
3) (@), ) © (4) (), () and ()
poczss [N s Fapec
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39.

poos ||
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40.

41.

42,

43.

Match the items of List - I with items of List - II by selecting the correct answer from the
given code below :

List - I List - II

(Writers) (Concepts)
(a) Dicey (i) Anomic interest groups
(b) S.P. Huntington () Judicial Review
() Almond (iii) Political decay
(d) Marbury Vs Madison (iv) Rule of law
Code :

@@ (b) (9 (d)
1 Gv) @) @ @)
2) @@ @v) (@) (@
G) @) @ @ )
@ O @) (@v) (i)

Which of the following was not a feature of the Government of India Act, 1919 ?
(1) Provision for a bicameral legislature at the centre.

(2) The Legislative Assembly would have an elected majority and control over ministers.
(3) Communal representation was not only retained but extended.
(4)

4) Enlarged the electorates both for provinces and emperial legislature.

Who amongst the following provided a link between pre and post independence institutional
framework to study Indian politics ?

(1) Rajni Kothari (2) Myron Weiner
(3) Morries Jones (4) Paul R. Brass

Which of the following is true about the fundamental rights under Indian Constitution ?
(a) Itis protected and enforced by the Constitution.

(b) It can be changed by the common legislative process.

(c) Supreme Court is the guardian of fundamental rights.

(d) All Constitutional rights are fundamental rights.

Select the correct answer from the code given below :

(1) (a) and (c) only (2) (a) and (b) only

(3) (a), (b) and (d) only (4) (@), (c) and (d) only
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44. Match List - I with List - II and select the correct answer from the code given below :
List - I List - II

(Idea/Concept) (Person Associated)

(a) Soft state (i) Atul Kohli

(b) Politics of Scarcity (i) Subrata K. Mitra

(c) Crisis of Governability (i) Gunnar Myrdal

(d) Contentious Democracy  (iv) Myron Weiner

Code :
@@ (b) (9 (d)

(1) @) @v) @ ()

(2) (@@ @) @) (v)

(3) (v) @) (D) ()

4 O @) @ ()

45. Which of the following is not true about the amendment of the Constitution under

Article 368 ?

(1) The Bill may be introduced in either House of Parliament.

(2)  The Bill must be passed by special majority (2/3" present and voting and more than
50% of the total membership).

(3) In case of disagreement between the Houses joint sitting may be called.

(4) The President is bound to give assent to the Bill duty passed and ratified.

46. Put the following Presidents of India since 1989 in their chronological order and select the
correct answer from the code given below :

K.R. Narayanan, A.P.J. Abdul Kalam, R. Venkatraman, Shankar Dayal Sharma,

Pratibha Patil

Code :

(1) K.R. Narayanan, R. Venkatraman, Pratibha Patil, A.P.J. Abdul Kalam, Shankar Dayal
Sharma.

(2) R. Venkatraman, A.P.J. Abdul Kalam, Shankar Dayal Sharma, Pratibha Patil,
K.R. Narayanan.

(3) Pratibha Patil, K.R. Narayanan, Shankar Dayal Sharma, R. Venkatraman, A.P.]. Abdul
Kalam.

(4) R. Venkatraman, Shankar Dayal Sharma, K.R. Narayanan, A.P.J. Abdul Kalam,
Pratibha Patil.

47. Which article of the Indian Constitution empower the Parliament to make provisions for a
contingency when the offices of both the President and the Vice-President fall vacant by
reasons of death, resignation, removal or otherwise ?

(1) Article 123 (2) Article 72 (3) Article 70 (4) Article 58

48. “India since 1989 has witnessed fewer abuses of power by Prime Ministers than the United
Kingdom experienced under either Margaret Thatcher or Tony Blair”. Whose statement is
this ?

(1) Atul Kohli (2) Granville Austin
(3) James Manor (4) Christophe Jafferlot
poczss [ THTRLAAN 2 Fapec
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et - 1 et - 11

(feremy/ sraemo ) (Hvaeg =R )
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(1) =% 123 (2) IR 72 (3) =T 70 (4) =T 58
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(1) 3Tt et (2) IAfeed A
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49. Who of the following regard the Supreme Court of India as having a dual personality - a
legal institution and a public institution ?
(1) Granville Austin
(2) Upendra Baxi
(3) Madhav Khosla and Ananth Padmanabhan
(4) N. Robinson
50. Who calls Election Commission of India as an effective ‘bulwork of free and fair
elections’ ?
(1) Alistair McMillan (2) Lloyd and Susanne Rudolph
(3) R.P. Bhalla (4) M. Katju
51. Match List - I with List - II and select the correct answer from the code given below :
List - I List - II
(Book) (Authors)
(a) An undocumented wonder : The Making of (i) B.S. Rao
the Great Indian Election
(b) The Framing of India’s Constitution : A study (i) Granville Austin
(c) Working a Democratic Constitution : (iii) S.Y. Quraishi
The Indian Experience
(d) The politics of India since Independence (iv) Paul R. Brass
Code :
@ () (9 (d)
1) @ @ @ 6
@ @ 6 @ W)
@) (v G @)
@) 6 @) @ @
52. Match List - I with List - II and select the correct answer from the code given below :
List - I List - II
(State) (Chief Minister)
(a) Uttar Pradesh (i) Jairam Thakur
(b) Assam (i) Sarbananda Sonowal
() Kerala (i) Yogi Adityanath
(d) Himachal Pradesh (iv) Pinarayi Vijayan
Code :
@ b © @
O @ @) 6 @
@ @ @ @)
@) @ @) @) 0
@) (v 6 @) (@
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49, TrAfafed § 9 S YRd % I=qH R Tl Qe Afwe (FET) AMd § - T fafyes g &)
Teh Aleh HeeqT ?
(1) IHfoet s
(2) U= ol
(3) HIYE WIHA TH 3THd G4
(4) . Ul
50. @ YR frate e %t s e froget fatesi &1 T goret wad ed € 2
(1) ufeusr Hefier (2) WIS Td guH TEIeh
(3) UL weel (4) WA W1
51. HE - 1 1 Tat - 11 o 912 Gafed o iR = U 0 e § 9@t ST 1 =997 &Y
it -1 et - 11
(q&Teh ) (T )
(a) TUA SFERHCE de : & Hichw 31w & I () T @
sfeaq soaRM
(b) < HHT ATE A HielegyH @ T &l (i) IAforet A
(c) afhT T eHIshfes HILICPRA : 91 sfeaq TadiRud (i) THAE. HE
(d) <& wfcafesd o sfean fHg ey (iv) Uid IR, e
<
@ (b) (9 (d)
1) @) @) @) @
2) (@) (@) @) (i)
) (@v) () () ()
4) @O (@v) @) (i)
52. Gt - 1! Goll - I1 o 919 gafaa o iR = ST 70 e & W& S 1 =991
et -1 et - 11
(=) (=T wHlT)
(a) I U= ()  SHEUH ST
(b) oTEH (i) G FHEA
(c) e (i) AT emfERe
(d) Teur=a wew (iv) Toue fosem
<<
@@ (b) (9 (d)
1) @) @Gv) (@) ()
(2) (@) @@ @) @
(3) (11) (i) (iv) (i)
(4) (@v) (@) (i) (i)
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53. Who describes Indian federation as a “holding together federation and not a ‘coming together
federation” ?
(1) P. Bardhan (2) R.L. Watts
(3) Douglas Verney (4) D.D. Basu
54. Which committee on Panchayati Raj in India takes of three phases : “The phase of ascendency
The phase of stagnation and The phase of decline” ?
(1) Sadiq Ali (2) L.M. Singhvi
(3) Asoka Mehta (4) B.R. Mehta
55 The grounds on which President’s Rule has been imposed on the states in India are :
(a) If no stable government can be formed.
(b)  If the Cabinet has lost majority and no other ministry commanding a majority in the
Assembly can be formed at once.
(c)  If the state government does not obey the directives given by the Union government or
breakdown of federal structure.
(d) Corruption.
Select the correct answer from the codes given below :
(1) (a) and (b) only (2) (a), (b) and (c) only
(3) (@), (b) and (d) only (4) (@), (), © and (d)
56. Match List - I with List - II and select the correct answer from the code given below :
List - I List - II
(Movement) (State)
(a) Tebhaga Movement (i) Odisha
(b) Silent Valley Project (i) Uttar Pradesh
(c) Banwasi Seva Andolan (i) Kerala
(d) Chilka Bachao Andolan (iv) West Bangal
Code :
@ (® (9 (9
1) @ ) @ G
@ O @) @ @)
@) v @) @ 0
@) @ @ ) 0
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(b) Afe diaded 3 agaa Tan fean § iR faum 91 # sgua W@a are & off o= Afmed & gl
e &l e S Fehal |

() I T WHR, T9 THR R U MU 0 61 arer T st & a1 Wei gien fas & wn g
(d) TEERI

T fou w5 B Wt ST B =TI A
(1) e (a) 3R (b) (2) A (a), (b) 3R (c)
(3) I (a), (b) 3N (d) 4) (), (), () 3 (d)
T - 161 Gl - 11 9121 Gafed o iR A= U T e & 9 9@ ST 61 =997 &
T - 1 gl - 11
( 3TiEreT ) ()
(a) AU S @ s
(b) Wi el Ui (i) ST G
(c) TaTE T sTiSed (iii) HA
(d) focrR I=ET e (iv) dfe=m S
W :
(@ () (© (@
1) @G @Gv) (@) (i)
(2) @ @) @) (@)
B) (v) @) @) @)
4) i) (iv)
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yooss ]

Which of the following have been discussed as crisis of India’s national unity by
Paul R. Brass in his book The Politics of India since Independence ?

(a) Punjab (b) The North East

(c) Casteism (d) Kashmir

Select the correct answer from the code given below :

(1) (a) and (d) only (2) (b) and (c) only

(3) (a), (b) and (c) only (4) (a), (b) and (d) only

Consider the following statements and select the correct answer from the code given
below :

Assertion (A) : Lant Pritchett Calls India a “flailing state.”

Reason (R) : The state in India appears to undertake highly complex takes with relative
efficiency - such as running atomic weapons programme or regulating
monetary policy - while struggling to perform more ordinary governance
tasks - such as delivering basic health and education.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Which one of the following Commissions was not related to Backward Classes ?
(1) Bakshi Commission (2) Mandal Commission

(3) Havnoor Commission (4)  Shah Commission

“If Hume and other English liberals hoped to use Congress as a safety-valve, the Congress
leaders hoped to use Hume as a lightening-conductor”. Who said this ?

(1) S.R. Mehrotra (2) Sumit Sarkar
(3) Bipan Chandra (4) Tapan Raychaudhuri

Who among the following was the first to advance the idea of worker’s participation in
management ?

(1) Henry Fayol (2) Herbert Simon
(38) F.W. Taylor (4) Mary Parker Follet

(T 25




57.

58.

59.

60.

61.

i 3TR. 319 R 319! T&aeh, & wifcifes™ 37 sfean fog sSied # f=fafeaa o 9 fohger wra
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(a) ST (b) SR
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(1) 9 (a) 3R (d) (2) &= (b) ¥R (o)
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USRI (A) :  Tic fYe=e RA &l ' T T9%a gl T '’ Fed ¢ |
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e

1) (A) 3R (R) S @& €, 3T (R), (A) T G& =R 7

(2) (A) R (R) I W €, AFT (R), (A) BT T =0 T T
(3) (A) W&l g, wfehT (R) Terd €|

(4) (A) 7T B, wfeh (R) & 2|

frefafed § @ -1 e fuss ot 9 Heifud & ¢ 2
(1) st S 2) wHed S
(3) TR WM (4) IS ST

“ofe g TR TR ST STRETE! ST 1 U TR -a1ed o €9 H SRIATE i i SFIS hid o I
I AT ZH T Teh ATZT-sheded o &9 H TEIHT i hi TS hid I 1" I8 oA forden
g?

(1) TH.R HgA 2) gfd R

(@) fom == (4) O TEEED

frefafed o 9 frer qevem ey H MR st wriert o o= =0l g&qd fea?
(1) TR R 2) e WEHA
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62. Match List - I with List - II and select the correct answer from the code given below :
List - I List - II
(a) Behavioural (i) Administrative system as a sub-system of the society
(b) Bureaucratic (i) Agrarian - Transitia - Industria
(c)  Ecological (i) Legal - Rational authority
(d) General system (iv) Analysis of human behaviour in administrative settings
Code :
@ ®) © (@
1) @) @) @ o
@ () @ @ 0
G) G O @) @
@) @) @ ) 0
63. Which of the following are the features of New Public Management ?
(a) Contracting out (b) Devolution of authority
(c) Focus on performance appraisal (d) Focus on management
Select the correct answer from the code given below :
(1) (a) and (9 (2) (a) and (b)
(3) (), (b) and (0 4) (), (b), (0) and (d)
64. Who among the following has criticized classical theory as ‘homely proverbs, myths, slogans
and pompous identities” ?
(1) W.F. Willougbhy (2) Luther Gulick
(3) Henri Fayol (4) Herbert Simon
65. Who among the following said that behaviour in administration should be studied through
psycho-analysis ?
(1) Alex Bavelas (2) Orway Tead
(3) Abraham Maslow (4) Chester Banard
66. The Hawthorne experiments belong to the era of :
(1) Mid 1930’s (2) Late 1930’s
(3) Early1920’s (4) Late 1920’s
poczss || 1EREATVRRRI . Faper




62. eIt - I 1 Gt - 11 ¥ gAfaa sifae ok = fed T $e & w@@d 3w g
e - 1 et - 11
(a) SHTBRIH® (i) S IU-YOMCAT o &9 H FmHE goledt
(b) HeFTIE (i) TR - giffen-gefen
(c) TuRfafarta (iii) faferer - foaereiiar wifeerrdt
(d) ST goTet (iv) TR e § He FegR ol faeetu
<
@@ () (o (d
1) Gv) @) @ @
(2) (@) () @) @
@) (@(v) @) @) (i)
(4) (@) @) @v) @
63. Trafafed & 4 SH-9t 731 ol yeie st fagmar & 2
(a) Eferer & (b) WITHR T T
(c) ToameA qesriend W & (d) e W &A=
(1) (a) ¥R () () (a) ¥R (b)
() (a), (b) 3R (c) @ (@ (), (© 3R (d)
64. Trafafea § 9 fren Fafaea fagia wt THEEAT gEe i, fHew, 7 iR sTearyu
guETarel’ % ®9 H Hi §?
(1) g T, foersi (2) TR TR
3) B wEA (4) T HEAA
65. frfafed § 9 foras war for Temes o SHaeR &1 A2 H-fove o SR fan s =nfew ?
(1) ol soe™ (2) & dre
(3) oTemRH Heal (4) TR ML
66. TIUH & TN FAfAfEd we * €
(1) 1930 % I 6 HEA (2) 1930 % Sk % 3
1920 % 6 o ARY 6 (4) 1920 % TH * Hd %
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67. Who among the following described bureaucracy as “The continental nuisance” ?
(1) Max Weber (2) Thomas Carlyle
(3) M. Crozier (4) Karl Marx

68. ‘Unity of Command’ means :
(1) That the subordinate will have only one supervisor.
(2) That the subordinate will have more than one supervisor.
(3) That all the units are put under one head.
(4) That the work is divided among all the subordinates.

69. The Governor of a state in his capacity as Administrator of an adjoining Union Territory
discharges his functions independently of :

(1) The President of India (2) The Union Cabienet
(3) The Union Home Minister (4) The State Council of Ministers

70. Which of the following are the factors determining the length of span of control ?
(a) Age of the organisation (b)  Personality of the supervisor
(c) Calibre of the subordinates (d) Organisational structure
Select the correct answer from the code given below :
(1) () and (9 (2) (a) and (9
(3)  (b), (c) and (d) 4) (@), (b), (c) and (d)

71. Which of the following are the benefits of E-governance ?
(a) It makes government more accountable.
(b) It minimises people’s participation in government affairs.
(c) It encourages bureaucratic tendencies.
(d) It lowers transaction costs.
(e) It helps in building trust between government and citizen.

Select the correct answer from the code given below :

(1) (a)/ (b)/ (C)/ (d) and (e) (2) (@), (b), (c) and (d)
(3) d) and (e 4) (@), (d) and (e)
11—




67. TrefeiEa § 9 formm Srenemet 1 wegidia Sugd’ sar ?
(1) He IR (2) oTE FHRARA
(3) TA. ISR (4) e HreRd
68. ‘f7e=or ot wehar' ot 21ef © T
(1) 31Ty 1 haa T qHAe BT |
(2) 3TNTEY T TH O 31fyen TAeTR T
(3) Tt Wehehl I Tk THW & e T Sl |
(4) Tt stefiTeell o Sfi= T T faaeoT o S 1
69. Torel T5T =1 T Teheadt 9 T5T &3 & J9IHe o &4 § FefaiEad 9 @ad €9 9 0 &
o1 Tree e % :
(1) 9Rd 1 Tl (2) e HHEA
(3) e TR A (4) T A AR
70. 0 @ b srafy e 0 ae ewRe fFEfafea § @ w6-9 2
(a) ETSA W ATy (b) THoETR T AR
(c) orefiey =afaaail &t arar (d) HTSAHSE g
(1) (b) () @ (a3 ()
(3) () (0 ¥R (d) @ @ ) () ()
71. frafafed & @S- E-Taig F o9 €2
(a) 9% THR h AR ST ST T |
(b) TEH THR F HE H AN ht IR HH S S|
(d) TEH OF-<F F ©E B HH A S
() 3UY TR AR AR * o fovarg fmior o weg faerd €1
= fed T Fe | & W H TIF HIGC :
(1) @), ®), (©), (d) R (e) 2 (), (), () R (d)
(3) (@) (b), (d) 3 (e) 4) (@) () 3R ()
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72. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) : According to Gleen Stahl, unless the recruitment is sound, there is very
little hope for recruiting a first rate staff.
Reason (R) : He considers recruitment as the cornerstone of the whole public personnel
structure.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A) is false, but (R) is true
73. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) : Classical theory views organisation as a formal structure of authority based
on Universal principles.
Reason (R) : Classical theory views human beings who run an organisation as mere cogs
in the machine.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
74. Match List - I with List - IT and select the correct answer from the code given below :
List - 1 List - II
(a) Span of Contol (i) Supervision
(b) Hierarchy (i) One single boss
(c) Delegation (iii) Through proper channel
(d) Unity of Command (iv) Flow of authority
Code
@ b © @
O @ 6 @ W
@ O G @) (@
@) G O @) @
@) @) @ 0 W
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( (i) (@) @)
vooss [ [N

T & e fed U ¥, wh arfueRem (A) % w9 H fafed © o oo T (R) % w9 # fafed 7

= fed T e | wE I g

ARHRYT (A) : ol WA o TIER, 5d Tk Wl God el 3T, IAH hHART oh Wl B bl ST
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HIT (R) : I el T YUl FreST(eh HHARI e & SR & €9 H 7 €
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(3) (A) T ¥, AfHA (R) T B

(4) (A) 7@ §, AfeRT (R) 92T

= < e T U ¥, wh tfaeRe (A) % w9 fafed € oI <o @ (R) % w9 § fafed

1= feu T e ¥ 9 W@ W G

AR (A) :  FNfawhe fagia wdifres fagidl & oTuR W Wred &l WisR & i
el & ¥4 H SEAr

HIT (R) : Fetaehet fagia e o1 Il dTeft e Sifd &1 ot 934 o =shed & &9 §
S 2 |

<

1) (A) 3R (R) A w& § 3R (R), (A) T =0 |

2) (A) 3R (R) I & &, Wil (R), (A) B G =0 e ¥
3) (A) T ¥, AfhA (R) Terd B |

(4) (A) 7T €, AfeR (R) W 2

Tl - [ 1 it - 11§ gafaa wifee o) = fou 7u %e 9 w@@é sw® g

et -1 et - 11
(a) T =t srafy () TR
(b) HEHH (i) TwHAHAE
() YAENH (iii) 3fad A1 & g
CORREREREIRE (iv) IYeRR 1 Jerg
e
@ (b) (9 (d)
1) @ @ ) Gv)
2 @ (@) @v) (i
®) @) @ Gv) (@)
4) iv)
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75. The 73’4 and 74" Amendment Acts have resulted in :
(a) Transparency in the governance
(b) Accountability in governance
(c) Gender empowerment
(d) Deepening of democracy
Select the correct answer from the code given below :
(1) (9 and (d) (2) (a) and (0
(3) (b) (c) and (d) 4) (), (b), (0) and (d)
76. After independence, the role of the District Magistrate has undergone a substantial change
mainly due to :
(1) Political awakening (2) The role of mass media
(3) Democratic decentralisation (4) Periodical elections
77. The report ‘Right to Information : Master key to Good Governance’ was submitted by :
(1) The Sarkaria Commission
(2) Punchhi Commission
(3) First Administrative Reforms Commission
(4) Second Administrative Reforms Commission
78. Which one of the following Commissions/Committees/Thinkers has identified 27 modes of
corruption ?
(1) Kautilya (2) Vohra Committee
(3) Santhanam Committee (4) Central Vigilance Commission
79. The Joint Consultative Machinery in India was established on the recommendation
of :
(1)  Fisrt Pay Commission
(2) Second Pay Commission
(3) First Administrative Reforms Commission
(4) Paul Appleby Report
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75. 739 IR 74 3 GeeA sifufremi & uRomreeey frefafed gu e
(a) TR H UrEid
(b) TER H WA
(c) A FereKitehTul
CIRSEEEEIREE G
= fe g, % H HE S| ﬁﬁ'ﬁ :
OERCELC) @ (@ ()
(3)  (b), () 3 (d) 4)  (a), (b), (0 ¥R (d)
76. A % oG, TSen sifeRl 1 ffye § g=1 €9 9 fAfafaa & wRe aga it 9iemdd gen
g
(1) THIfdeR ST (2) 9 "ER F e
(3) SditIh fashsiet (4) AEfus IAE
77. ‘U T SABRHYA : AR 1 2 T[S TTed’ gfaaed fFefefiad § 9 te o gr weqd fohan e .
(1) |IRIRAT M
(2) USt AEN
(3) HH YRIHH FUR SRR
(4) SHU TRMEE GUR ST
78. frAfafea & @ forq et/ afufa/ fas 3 yermER & 27 Gfqd =t wewm =t 82
(1) =i (2) dew gt
(3) e wEfd (4) e ek s
79. 9Rd § g et dF Frefafed § 9 frget fawfier w zenfya foan e ?
(1) T Adq ™M
(2) Tedita = e
(3) UYH YeHITH FHR AR
(4) did et R
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81.

Which of the following Commissions/Committees has identified “weak governance’ as the
main reason for corruption in India ?

(1) First Administrative Reforms Commission

(2) Second Administrative Reforms Commission
(3) Vohra Committee
(4) Santhanam Committee

Which one of the following is the sequential order of the following states becoming
acknowledged nuclear powers ?

(1) America, Britain, Soviet Union, France and China
(2)  America, Soviet Union, France, Britain and China
(3) Soviet Union, America, Britain, China and France
4

4 America, Soviet Union, Britain, France and China

82. Which Chapter of the United Nations deals with the “Pacific Settlement of Disputes’ ?
(1) Chapter II (2) Chapter III (3) Chapter IV (4) Chapter I
83. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) : The Cold War and decolonisation process had discouraged more active
involvement by United Nations within state.
Reason (R) : States have national interest as its prime interest.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (R)is true, but (A) is false.
84. India has signed strategic partnership agreements with :
(1) France, Russia, Iran and South Africa
(2) China, America, Britain and Argentina
(3) ASEAN, Japan, Australia and Tanzania
(4) Vietnam, Seychelles, Mongolia and Singapore
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85. Consider the following statements with regard to India and ASEAN.
(a) India became Sectoral partner of ASEAN in 1992.
(b)  Delhi Dialogue is on Politico-economic issues between ASEAN and India.
(c) India became Dialogue partner of ASEAN in 1996.
(d) India became summit level partner of ASEAN in 2000.
Select the correct answer from the code given below :
1) @and(d () @and(© (3 (and(d) (@) (a)and (b)
86. Which of the following statements are true about SAARC ?
(a) Australia, America, Japan and Russia are observers.
(b) Promote and strengthen collective defense among member states.
(c) Indian become Secretary General of SAARC twice.
(d) The Second Summit of SAARC was held in India.
Choose the correct statement from code given below :
(1) (@) (9 and (d) (2) () and (9
(3) (c)and (d) (4) () (0 and (d)
87. Who have argued that far from an objective reality, international politics is a “World of our
making’ ?
(1) Realists (2) Feminists (3) Idealists (4) Constructivists
88. Consider the following statements :
(a) India’s ‘Link West Policy’ is an attempt to reconnect to the Western World.
(b)  “Project Mausam’ is an Indian initiative for maritime cooperation in Indian ocean region.
(c) ‘Operation Rahat’ was conducted by India to rescue Indians from Libya.
(d) India has become member of Shanghai’ cooperation organisation.
Choose the correct statements from the code given below :
1) (©, (d) and (b) (2) (a), (b) and (©)
(3) (@) (), () and (4) () and (@)
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91.

92.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : Security is a Contested Concept.

Reason (R) : Security is multidimensional in it’s realization.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Consider the following statements :

(a) OPEC was created at Riyadh conference in 1960.
(b) The charter of OAS was signed in 1948.

(c) Indonesia is a member of OPEC.

(d) Cuba is a member of OAS.

Choose the correct answer from the code given below :
(1) (b) and (0 (2) (a) and (d)
(3) () (© and (d) (4) (9 and (d)

Neo Liberals, from their Lockean Universe Seek to create international regimes that optimize
the :

(1) Rational exploitation of nature (2) Rational functioning of the state system

(3) Rational application of power  (4) Rational utilisation of weapons

Democratic peace theory has been largely associated with the writings of :

1 Immanuel Kant and Voltaire

3

(1)

(2) Michael Doyle and Bruce Russett

(3) Thomas Christensen and Thomas Schelling
(4)

4) Mahatma Gandhi and Jawaharlal Nehru

pooss | HFITHUANNN 5



89.

90.

91.

92.

1 & e fed U ¥, wh arfueRe (A) % w9 H fafed § o gow T (R) % w9 # fafed 7
1= o3 ¢ e | | W& W g
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SIT (R) : TRaT 3T A H ST ¥
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(1) (A) 3R (R) I F& T 3R (R), (A) ! Tl AT

2) (A) 3R (R) S T &, AfHA (R), (A) T Tel =0 & ¥
3) (A) W& ¥, Afehd (R) Terd 71

(4) (A) 7@ &, Afehd (R) 92T &

fr=fafad sl w fa=m SifsT .
(a) 39k 1 TS 1960 H RER T | gl
(b) 3T.TTH. =X W 1948 H FEA&R fora T |
() TSHfrEn 3l &1 ¥ T
(d) FE AT TH. FH T T |

3 23 T e § © W SR g
(1) (b) &R () 2) (a) AR (d)
(3) (b, () R (d) (4)  (c) IR (d)

o ISR, 3TI Tk STel Tave ¥ TR Ao givrd e st oel id & o frefafea o o=
sTfersha s ® 2

(1) i =1 faerwygol S (2) g yuedt st foereRyol frameiieran
(3) wifert o1 fararshgul wgfer (4) T 1 faERYul ST

AT SN g =de ®9 § fohdsh oiEl o wrafem g2
(1) THIYSTE Fic AR AARR
(2) T T SR W T
(3) orH fohedT IR araw Afen
(4) T M IR A Tow

yooss [ HEITNANENI .



93. Which one of the following is not part of the four main criteria set out by 1933 Montevideo
Convention on the Rights and Duties of the state ?
(1) Capacity to enter into relations with other states
(2) A defined territory
(3) Strength to wage a war
(4) A permanent population
94. Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Treaty) (Purpose of agreement)
(a) Geneva protocol (i) Bans multiple independent reentry vehicles
(b) START 2 (i) Bans use of chemical weapons
(c) INF (i) Reduces strategic arms
(d) START 1 (iv) Bans two categories of land based missiles
Code :
@ () (9 (d)
O 6 @ (v @
@ G @ ) 0
@) ) O G G
@) @ O G (@
95. Which one of the following statement is incorrect ?
(1) Collective Security aims to defend the Status quo.
(2) Collective Security Operates in an institutional framework.
(38)  The diffusion of Gulf crisis 1990-91 is a successful experiment of Collective Security.
(4) Collective Security and balance of power policy are compatible under usual
circumstances.
96. Morgenthau’s classification of ideologies doesn’t include :
(1) Ideology of status quo (2) Ideology of imperialism
(3) Ambiguousideologies (4) Ideology of hegemony
97. Which one of the following is not part of five global commons ?
(1) The High Seas (2) The Climate System
(3) The Deep Ocean floor (4) The Arctic region
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93. U % AYHR AR FHdedl W T4 1933 H Aiweifared] e g1 FHiia R & aHcel &1 fewm
frfafed § @ F 91 & © 2
(1) 3T T o WY T GREY I i &l
) fruffa a=
(3) IS T H Akd
(4) TRl SHEE
94. It - 11 Gl - [1 & T Gafaa ST &) = fou %e & 9 9@t §e &1 =97 HiT
et - 1 et - 11
(afer) (U T 329 )
(a) SET WerR (i)  STEAl o TA YA TSN I R §
(b) TEATALE.-2 (i) e WS Y
() SIE.TLTE (iii) SR A H FHAA
(d) THIATARZ.-1 (iv) < a o -smuiRa fawedl oy
<
(@ (b) () (d)
1) @ @) (@v) (i)
(2) (@) @) @v) ()
®) Gv) (@) () (i)
4) @) @) (v) (i)
95. frAfafad § & o | FHoH Terd § 2
(1) Tgfesh e Jomyd feafd ST 1 %1 Teg I § )
(2) HTfesh TRan wikenfieh TOEm H e HA 2|
(3) oW Hehe 1990-91 T forewur Trfeeh GRaT 1 Thet TN |
(4) THfEws RN IR Wi e 1 Hifa = aRfefadt § @ Tt €
96. foamemsT & AN Sfietur § 1 Witfad & © 2
(1) Femgd feefa 6t foamam (2) HHIETE i fa=Rem
(3) T foaRyRY (4) omfede w1 foarem
97. fr=Afafaa | S uw uia dfvas gaamm=i &1 feem & © 2
(1) WeU€ 9 (=R Hie) (2) SAETg SR
(3) T ®WFR T (4) SW-yF &
yoozss | {EHANIHIHTAAN i



98. Consider the following statements about arms control :
(a) It's meant to build the security dilemma.
(b) It's a defensive strategy in principle.
(c) It does take a peace without weapons stance.
(d) It aims at mutual security between partners and over stability.
Choose the correct statements from the code given below :
(1) () () and (d) (2) () and (d)
(3) (b)and () 4) (@), (© and (d)

99. Which one of the pairs is not correctly matched ?

(1) Realism - States

(2) Globalizm - Non state actors
(3) Dependency - Economic interests
(4) Feminism - Gender

100. Which one of the following pairs is mismatched ?

Books Author
(1) The wretched of the earth - Frantz Fanon
(2) World order - Henry Kissinger
(3) Implosion of Capitalism - Samir Amin
(4) Neo-Colonialism : The last stage of Imperialism - Julius Nyerere
-00o0-
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98. I fo=0r & 9 § f=fafad sweMl X eI S

()
(b)
(c)

(d)

1)
(3)

s 1o gean fgfaen fffa 0 4 21
fag: 9% eI e A 81
I8 T IR0 ok oTR & Wi h1 9 Ll B |

g &l o S TREfeh TRaT SR sAfawenfacs i oled iar ¥ |
= ST e § 9 W& FHAA 1 FIT FHIW

(b), (c) 3R (d) (2) (b) ¥R (d)
(b) 3R (0) 4) () () ¥R (d)

99. AT I HE GHfAd & 2

REIPEI e
EREIET TR et
e sfeler fea
BINEIC St

100. frfafed & A g9 et Aferd 82

T
(1) & Mfue e & a1
(2) dTE X
(3) TS A% hivefersH
4) fFrEmEcitEfess « & de = e sifiatasn
-00o0-
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EER

T frfeer
wHi S
SferrE e
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